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WEST BENGAL STATE UNIVERSITY

B.Sc. Programme 6th Semester Examination, 2022

FNTGDSE04T-FOOD AND NUTRITION (DSE2)

NUTRITIONAL BIOCHEMISTRY
Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1

Candidates should answer in their own words AT e ©IT I TS AT T
and adhere to the word limit as practicable. e FEE |

Answer any four questions from the following 10x4 =40

Feferiee @-@FIE o176 etee Ted e

1. What is acid value? Describe Urea cycle. Write the name of two essential  3+5+2=10
amino acids.
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2. What is carbohydrate? Explain the dietary importance of starch. What is the 2+4+4=10
difference between Isomer and Epimer?
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3. What is water activity? What do you mean by phase transition of food 5+5=10
containing water?
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4. Write the mechanism involved in following conversion: (3x2=06)+4
(1) Glucose — Glucose-6-phosphate =10
(i1) Fumarate — Malate

What is alpha helix?
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5. Write the role of temperature on enzyme activity. 4+2+4 =10
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Define: Coenzyme.
Compare: Glycogenesis and Glycogenolysis.
GTGIRCR FFACR (T THOIT 2SR THCH @A |

M@RC FEI FOTEET|
QO SIS AZCIIEEOH @R 2B CF AR

Define the terms: Transamination, Deamination and Biological Value. Why
PUFA is healthier than MUFA?
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Write a note on beta-oxidation of fat. What is Fisher’s Lock and Key model of
enzyme activity?
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Fill in the blanks with appropriate letters:

E+ =ES = +P

What is Dehydrogenase enzyme? Give one example. Briefly describe
Glycolysis.
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Give the full form: NPU and TFA.

Define: Reducing sugar, Zwitterion.

Write the molecular structure of Fructose and Lactose.
S{7al I TCIs NPU @8 TFA.
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

(2% x3=7 %)
1 —
+ 25 =10
5+5=10
2+3+5=10
2+(2x2=4)
+(2x2=4)
=10



